S1

Transition Words

Underline the cause-or-effect transition word/phrase in each sentence.

1)

10)

We took the ferry because the children hadn't traveled in one before.

Martin needed help with math and physics, so we got him an expert tutor.

We went to the beach since it was sunny and bright.

The school remained closed for two days due to snow.

We ordered food as we were too tired to cook.

The discussion is not over yet, and therefore, Dad will be late for lunch.

There was no money in the account. Consequently, the transaction failed.

Mr. Carter was widely traveled; as a result, it was fun listening to him.

There are fewer students this year. Thus, there will be fewer buses.

The cost of flying abroad has risen sharply. Accordingly, we are not
traveling this year.
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